
UNIVERSELLE PROZESSPLANUNG - Zeit & Erinnerung

Protokoll einer Simulation:

(i) Mit Angabe der benutzten Regeln (Neue Simulation)
(ii) Nur Zustände (Laden einer gespeicherten Simulation)
Version: Oksimo v0.11.77dea

Mit Angabe der benutzten Regeln (Neue Simulation)

Enter name from available rules to add to document, delete from document with del name or 
leave blank to exit:
> wuerfel3-1> wuerfel3-1

The rule document consists of the following rules:
wuerfel3-1
wuerfel3-2
wuerfel3-notiz1-1
wuerfel3-notiz1-2
wuerfel3-w2-dummy
wuerfel3-gewonnenA

NEW SIMULATION

Selected Vision:
wuerfel3-vision
Selected states:
wurfel3-start-variabel
wurfel3-start-fix
Selected rules:
doc wuerfel3-rules

Enter maximum number of simulation rounds
> 10

Your vision:
GEWONNEN A
Initial states: 
Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

Enter maximum number of simulation rounds
> 10
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Your vision:
GEWONNEN A
Initial states: 
Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

Round 1

Rules:
wuerfel3-2 applied  (Prob: 50 Rand: 31/100)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 80)
wuerfel3-gewonnenA not applied (conditions not met)
Current states: W=2,Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 2

Rules:
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 77)
wuerfel3-2 applied  (Prob: 50 Rand: 44/100)
wuerfel3-w2-dummy applied  (Prob: 100 Rand: 92/100)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-gewonnenA not applied (conditions not met)
Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 3

Rules:
wuerfel3-gewonnenA not applied (conditions not met)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 65)
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 66)
Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None
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Round 4

Rules:
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 63)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 79)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-gewonnenA not applied (conditions not met)
Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 5

Rules:
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 54)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 95)
wuerfel3-gewonnenA not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-notiz1-2 not applied (conditions not met)
Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 6

Rules:
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-gewonnenA not applied (conditions not met)
wuerfel3-1 applied  (Prob: 50 Rand: 3/100)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 78)
wuerfel3-notiz1-1 not applied (conditions not met)
Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A,W=1

0.00 percent of your vision was achieved by reaching the following states:
None
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Round 7

Rules:
wuerfel3-2 applied  (Prob: 50 Rand: 3/100)
wuerfel3-notiz1-1 applied  (Prob: 100 Rand: 56/100)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-1 applied  (Prob: 50 Rand: 1/100)
wuerfel3-gewonnenA not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
Current states: Notiz zu 1: 1,Es gibt einen Würfel mit '1' und '2',SPIELER A,W=1

0.00 percent of your vision was achieved by reaching the following states:
None

Round 8

Rules:
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-gewonnenA not applied (conditions not met)
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 68)
wuerfel3-notiz1-2 applied  (Prob: 100 Rand: 96/100)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 99)
wuerfel3-notiz1-1 not applied (conditions not met)
Current states: Notiz zu 1: 2,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 9

Rules:
wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 93)
wuerfel3-2 not applied (probability not met. Prob: 50 Rand: 86)
wuerfel3-notiz1-2 not applied (conditions not met)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-gewonnenA applied  (Prob: 100 Rand: 9/100)
Current states: GEWONNEN A,Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2'

100.00 percent of your vision was achieved by reaching the following states:
GEWONNEN A,

Round 10

Rules:
wuerfel3-gewonnenA applied  (Prob: 100 Rand: 55/100)
wuerfel3-notiz1-2 not applied (conditions not met)
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wuerfel3-1 not applied (probability not met. Prob: 50 Rand: 64)
wuerfel3-w2-dummy not applied (conditions not met)
wuerfel3-notiz1-1 not applied (conditions not met)
wuerfel3-2 applied  (Prob: 50 Rand: 3/100)
Current states: Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2',GEWONNEN A,W=2

100.00 percent of your vision was achieved by reaching the following states:
GEWONNEN A,

Save Simulation [S], Rerun simulation [R], export as text [T] or exit [leave blank]:
> S

Enter Name for Simulation:
> wuerfel3-SIM1

Saved!

Nur Zustände (Laden einer gespeicherten Simulation)

Enter the name of the wanted simulation:
> wuerfel3-SIM1

Enter maximum number of simulation rounds
> 10

Your vision:
GEWONNEN A
Initial states: 
Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

Round 1

Current states: W=2,Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 2

Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

5



Round 3

Current states: Notiz zu 1: 0,Es gibt einen Würfel mit '1' und '2',SPIELER A,W=1

0.00 percent of your vision was achieved by reaching the following states:
None

Round 4

Current states: Notiz zu 1: 1,Es gibt einen Würfel mit '1' und '2',SPIELER A

0.00 percent of your vision was achieved by reaching the following states:
None

Round 5

Current states: Notiz zu 1: 1,Es gibt einen Würfel mit '1' und '2',SPIELER A,W=1

0.00 percent of your vision was achieved by reaching the following states:
None

Round 6

Current states: Notiz zu 1: 2,SPIELER A,W=1,Es gibt einen Würfel mit '1' und '2'

0.00 percent of your vision was achieved by reaching the following states:
None

Round 7

Current states: Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2',GEWONNEN A,W=2

100.00 percent of your vision was achieved by reaching the following states:
GEWONNEN A,

Round 8

Current states: Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2',GEWONNEN A

100.00 percent of your vision was achieved by reaching the following states:
GEWONNEN A,

Round 9

Current states: Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2',GEWONNEN A,W=2

100.00 percent of your vision was achieved by reaching the following states:
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GEWONNEN A,

Round 10

Current states: Notiz zu 1: 2,SPIELER A,Es gibt einen Würfel mit '1' und '2',GEWONNEN A,W=2

100.00 percent of your vision was achieved by reaching the following states:
GEWONNEN A
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